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Possible Solutions

a) Mr. Chirinos likes to put his class of 24 students in groups for certain activities. If he has 6
baskets of materials for the groups to share equally, how many students can he putin each
group?

24 students divided by 6 buckets equals 4 students per bucket, or 4 students per group.
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24 students

24+6=4

b) Mr. Chirinos likes to put his class of 24 students in groups for certain activities. If he wants 3
students to be in each group, how many groups will he make?

24 students divided by 3 in each group, makes 8 groups.
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24 students

24+3=8



